8H31H B (31°C) HEE:19. 5BKWh HEEHE:1. 5KWh
FEE:19. 2KWh

8H30H B (33°C) HEE:21. 2KWh HEEHE:0. 6KWh
F=EE:20. 9KWh

8H29H B (32°C) HEE:19. 7TKWh EHEEAHZ:0. 7TKWh
F=EE:19. 4AKWh

8H28H B (32°C) HEE:21. BKWh EHEEAHZ:1. 5BKWh
SEEE:20. 7KWh

8H27H B (33°C) HEE:18. 6KWh EHEEFEHZ:1. 8KWh
SEEE:17. TKWh

8H26H B (32°C) HEE:22. 5KWh HEFEHZ:0. 9KWh
SEEE:22. OKWh

8H25H B (33°C) FHEE:24KWh HEEHE:0. 4KWh
SEEE:23. 7TKWh

8H24H B (33°C) HEE:24. 5KWh HEEHNE:1. 5Kwh
FEEE:23. 9KWh

8H23H B (34°C) HEE:23. 7TKWh HEEHE:1. 2KWh

8H228 W (34°C) HEE:24. 6KWh HEEBHE:1. 6KWh
FTEE:24. TKWh



8H21H B (33°C) HEE:24. 9KWh HEEHNE:0. 5KWh
SEEE:24. 6KWh
24. 5KWh HEEHE:0. 8KWh

8H20H B (32°C) RE=:
FTEE:24. 1TKWh

8H19H B (31°C) HEE:23. 6KWh HEEBHE:1. 2KWh
FTEE:23. 2KWh

15. 2KWh JEEEH=:0. 6KWh

8H18H MERAEZ (29°C) RE=S:
FEEE:14. 9KWh

8H17H B (33°C) HEE:22KWh HEEZBHE=:0. 6KWh

8H16H B (31°C) HEE:19. 7TKWh HEEHE:0. 7KWh
FEEE:19. 4KWh

F]

8H15H B (32°C) HEE:16. 9KWh HEEHE:0. 4KWh

8H14H = (28°C) HEE 10KWh HEEHEZ:0. 3KWh
FEE:9. 9KWh

8H13H B (32°C) REE:22KWh HEENE:0. 7TKWh
SEEE:21. 7TKWh

8H12H Z=#®#ME (31°C) HEE:16. 5KWh HEEHE:0. 6KWh

SEEE:16. 2KWh



8A11H £ (31°C) HEE:13. BKWh HEEHE:0. 6KWh
SEEE:13. 2KWh

8H10H B (29°C) HEE:19. 6KWh EHEFEHZ:0. 4KWh
SEEE:19. 3KWh
8H9H g (27°C) HEE:26. BKWh HEENE:0. 9KWh

8H8H i (26°C) %&E% 23KWh GHEZEH=:1. 4KWh

8H7H (32°C) HEE 24KWh HEEBHE:0. 9KWh

8H6H M&E=E (29°C) HEE:5. 6KWh HEEH=:0. 2KWh
FEE:5. 4KWh

8H5H (32°C) HEE:22. 9KWh HEEBHE:0. 4KWh
FTEE:22. 7KWh

8A4H (31°C) HEE:17. 1IKWh HEEH=:0. 5KWh
FE=:17KWh

8H3AH i (31°C) HEE 24KWh HEBZHEZ:1. OKWh
5EEE:23. 6KWh
8H2A (33°C) RE=E: 23 1KWh HEBHE:1. OKWh

FEE:22. 6KWh



8H1H H#K (32°C) HEE:20. 5KWh HEEHE:0. 6KWh
FEE:20KWh



